A 2 ~ N B F No. #—1 (DUCT)
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9 FPEREHE ﬁi EEE| R# |AC—2 %2@ KA (17N
. AR RE| 9 bstiklm]| .., BEIEREE D e o JERE
X b iy o
= i w/h]|n/s) B | Sm | OVRR 1o ] EABRERER p) W =
A ~B |EAWIL—/\— 3750 3.0 500 x 1000 2.1 11.3 63. 1| BEHmETELE=0.7
RAMERN 3750 3.0 450x 400/ 0.26 1.4
RAMEE 3750| 6.2 450 x 400 0.8 | 3.0 2.7
A0 Ry K (WARBRANY) 3750| 6.2 450 x 400, 0.21x 34 14.7 R=450
Ho— (AR F17E) 3750| 6.2 450 x 400, 0.52 12.0 6=0, N=3
EAREILK 3750| 6.2 1500 1200{ 0.91 21.0
B ~C |[RAMEE 10320(11. 1 700 x 400 2.10 | 1.0 2.1 69.3
RAMEILKR 10320(11. 1 2000 x 1500, 0. 91 67.2
C ~D |EAMEAHN 6080 2.0 800x 350| O0.41 1.0 37.0
RAMEE 6080| 6.7 800 x 350 0. 81 2.0 1.6
Fo— (EAR : T8 6080| 6.7 800x 350/ 0.52 14.0 6=0, N=3
EARELRAAIE (535728 4390| 6.7 700x 300, 0.76 20.4
D ~E |[RAWEE 4390| 5.5 350%x 700 0.60 | 1.0 0.6 2.7
RAMERAAMS (E@fEl) 3890| 5.5 600x 700 0.112 2.0
EAEE 3890 2.7 600 x 700 0. 11 1.0 0.1
E~ |4B& 20.0 20.0
E ~F |EAEE 440 3.7 200%x 175 0.94 | 4.0 3.8/ 35.7
A0 Ry K (WARBRAYY) 440| 3.7 200x 175/ 0.21 1.7 R=200
EARERAASIE  (EaEE) 220 3.7 150% 150| 0.063 0.5
RAMEE 220 2.9 150 % 150 0.79 | 3.0 2.4
AR R K (WARRRANY) 220 2.9 150% 150 0.21 1.1 R=150
RAMEILKR 220 2.9 400x 300, 0.64 3.2
RAM SN 220 0.4 150% 150 0.42 0.0
T 471-% - (C2-15, G272, 7KIF) 220| 2.9 23.0
5 R’ [Pa] 227.8
# w ® # K 1.10
% s i n R1=K:-*R’ [Pa] 250. 6
. wOE B R2 [Pa) 0.0
2 23 n R =R1+R2 [Pa] 250. 6
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1 2
[ i
[né/h] [[n/s] [ n?] [Pa/nm | [Pa]
3750| 3.0 500x 1000| 0. 500 =0.7 2.1 11. 3
i
1 3750| 3.0 500%x 1000| 0.500| AL/ A2 2.78 0.26 1.4
:I_ 2 3750| 6.2 450x 400| 0. 180
3750| 6.2 450x  400| 0. 180 3.0 0. 89 2.7
( 3750| 6.2 450x 400| 0.180 R'W 1 0.21 14. 7| R=450
HW 0.89 x 3
N
3750| 6.2 450x 400| 0.180| 6 0 0.52 12. 0| N=3
H - A
[
1 3750| 6.2 450x 400/ 0.180| AL/ A2 0.1 0.91 21.0
_I: 2 3750| 0.6 1500x 1200| 1.800
'—l H
10320 | 11.1 700x 400| 0.280 1.0 2.10 2.1
1| 10320| 11.1 700%x 400| 0.280| AU/ A2 0.09 0.91 67.2
_I: 2| 10320 1.0 2000x 1500/ 3. 000
'—l H
1 6080| 2.0 2000x 500| 1. 000| Al/ A2 3.57 0.41 1.0
:I_ 2 6080| 6.7 800x 350| 0.280
6080| 6.7 800x 350| 0.280 2.0 0.81 1.6
6080| 6.7 800x 350/ 0.280/ 6 0 0.52 14. 0| N=3
1 6080| 6.7 800x 350| 0.280| x 1.48 0.76 20. 4
3 4390| 6.5 700x 300| 0.210
T
4390| 5.5 350x 700| 0.245 1.0 0. 60 0.6
—
1 4390| 5.5 350x 700| 0.245|v2/ vl 0.49| 0.112 2.0
: 2 3890| 2.7 600x 700| 0.420
=Y
3890| 2.7 600x 700| 0. 420 1.0 0.11 0.1
—




No  2(DJCn
2 2
[ rm)
[né/h] [[n/s] [ n?] [Pa/m | [Pal
20.0
440 3.7 200x 175| 0.035 4.0 0.94 3.8
( 440 3.7 200x 175/ 0.035| R W 1 0.21 1. 7| R=200
HwW 0.88
™
440 3.7 200x 175| 0.035|v2/ vl 0.78| 0.063 0.5
i—i 220 2.9 150x 150/ 0. 023
=Y
220 2.9 150x 150 0. 023 3.0 0.79 2.4
( 220 2.9 150 150| 0.023| R W 1 0.21 1. 1| R=150
HW 1
S
220 2.9 150x 150| 0. 023| AL/ A2 0.19 0.64 3.2
—'—T 220| 0.5 400x 300| 0.120
'—| H
220| 0.4 400x 400/ 0. 160| AL/ A2 7.11 0.42 0.0
:I_ 220 2.9 150x 150/ 0. 023
(152 , ) 220| 2.9 Q 220 23.0




N 1(DULD
[ 1] 11 2
0.15 [nm

\o [ omi

) [n¥ h] [n/s] [Pdm [m [Pal [Pal

1A B 4 3750 3.0 500x 1000 2.1 1.3 63.1
4 ( =0.7)

2 - 3750 6.2 450x 400 0.26 1.4
= 0.89

3] — 3750 6.2 450x 400 0.89 3.0 27
o 0.89

4 -__\‘ 3750 6.2 450x 400 0.21 14.7
Ty ( R450 )x3 089

5] z 3750 6.2 450x 400 0.52 12.0
= ( 8= ON3 ) 0.89

6] — 3750 0.6 1500x 1200 0. 91 21.0
T 0.00

7

8B C — 1032011. 1 700 400 210 1.0 21 69.3

9] — 10320 1.0 2000x 1500 0. 91 67.2
- 0.01

10]

11] — 6080 2.0 2000% 500 0.04 0.0 0.0
— 0.04

12]C D - 6080 6.7 800x 350 O0.41 1.0 37.0
o 0.81

13] — 6080 6.7 800x 350 0.81 20 16
o 0.81

14] = 6080 6.7 800x 350 0.52 14.0
= ( 8= ON3 ) 0.81

15] a:' 4390 6.5 700x 300 0.76 20. 4
il 0.91

16]

171D E — 4390 5.5 350% 700 0.60 1.0 0.6 27
o 0.60

18] p— 3800 2.7 600x 700 O.112 2.0
Y 0.11

19] — 3800 2.7 600x 700 011 1.0 0.1
R 0.11

20]

21 E 20.0 20.0

22]

231E F — 440 3.7 200x 175 0.94 40 3.8 357
o 0.9

24] 440 3.7 200x 175 0.21 1.7
:\\‘\' ( R20 ) 0.9

25] p— 220 2.9 150x 150 0. 063 0.5
Y 0.79

26] — 220 2.9 150x 150 0.79 3.0 24
H— 0.79

27] -.\ 220 2.9 150x 150 0.21 1.1
™y ( R 150 ) 0.79




No  2(DUCh)
1] [ 1] 2
0. 15 [nm
No [ rmi
) [n¥ h] [n/s] [Pdm [m [Pal [Pal

[ 29 —t 220 0.5 400x 300 0.64 3.2

Tl 0.01
[ 29] _ 220 0.4 400x 400 0.01 0.0 0.0

o 0.01
[ 30] :I— 220 2.9 150x 150 0.42 0.0

= 0.79
[ 31] nir (@15C , ) 220 2.9 23.0

b
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